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@ Two harmonic waves are described by: y, = 3.0sin[(4x - 700t) rad] and y, = 3.05111{(41 -700t - 2) rad].
What is the amplitude of the resultant wave?
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®  Two harmonic waves traveling in opposite directions interfere to produce a standing wave described by
y = 2sin(rx)cos(3xt) where xis in m and { is in s. What is the distance in m between the first two antinodes?
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@ . Two long straight parallel wires separated by a distance of 16 cm each carry a current of 20 A in the same
direction. What is the magnitude in T of the resulting magnetic field at a point that is 10 cm from each wire?
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@ . A planar loop consisting of four turns of wire, each of which encloses 200 cm?, is oriented perpendicularly
to a magnetic field that increases uniformly in magnitude from 10 mT to 25 mT in 5.0 ms. What is the resulting

induced current in the coil in mA if the resistance of the coil is 5.0 Q?
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In a double slit experiment, the third bright fringe occurs at a distance of 2 cm from the central bright spot.
The slits are 1 mm apart and the screen is 3 m from the slits. What is the wavelength of the light?
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